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Question Number : 1 Question Id : 62321711766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following method of communication would be most effective in class room?

Options:



1 Lecture method

, Interactive method

cy Multimedia method

Presenting written matter with the Lectures
4.

Question Number : 2 Question Id : 62321711767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Major objectives of teaching are

a. to shape behaviour and conduct
b. to improve learning skills of students.
c. acqusifion of knowledge.

d. formation of belief.

Options:

. (a) and (b)
: (a), (b) and (¢)
. (a), (b). (¢) and (d)

(a) and (c)

Question Number : 3 Question Id : 62321711768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The field of Education 1s permeated by conflicts and misconception because

Options:

1 Problem in education call for subjectivity of interpretation.



Problems encountered in teaching are not amenable to rigorous scientific

, mvestigation.

There are not good teaching methods and procedures
=

Teachers are not worthy of doing rigorous scientific investigation.
4.

Question Number : 4 Question Id : 62321711769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The most appropriate meaning of learning is
Options:

gaining knowledge

modification of behaviour

personal adjustment
=

acquisition of skills
4

Question Number : 5 Question Id : 62321711770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In order to establish rapport with the students, the teacher should

Options:

Treat students as individuals

Try to avoid criticism
2

Learn and use student’s names
=7

p All of the other options



Question Number : 6 Question Id : 62321711771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Internal communication within institutions 1s done through

Options:

LAN

1

WAN

2

EBN
=

MMS

4

Question Number : 7 Question Id : 62321711772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Meta cognition 1s related to

Options:

Assessment for learning
1.

Assessment of learning

Assessment as learning
3

None of the other options
4.

Question Number : 8 Question Id : 62321711773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The two statements assertion and reasoning are given. Based on that choose correct answer.
Assertion (A) : Learning is a lifelong process
Reason (R):  Effective Leaming takes place when it 1s linked with real life situations.

Options:



1 Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
. (A) 1s true but (R) 1s false

(A) 1s false but (R) 1s true.
4,

Question Number : 9 Question Id : 62321711774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Talking and indiscipline in classroom 1s an indication of

Options:

indisciplined students

. boredom caused by repetitiveness

confusion about things taught

All of the other options
4,

Question Number : 10 Question Id : 62321711775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
In the process of conducting research,“formulation of hypothesis” is immediately followed by

Options:

. Statement of objectives

Analysis of Data
2.

Selection of research tools
=



Collection of data
4.

Question Number : 11 Question Id : 62321711776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

is a preferred sampling method for the population in which the elements

are more homogeneous within the group and heterogeneous between the groups

Options:

Systematic sampling
1

5 Purposive sampling

Cluster sampling
=

) Stratified sampling

Question Number : 12 Question Id : 62321711777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which one 1s the purpose of theory building?

Options:

Applied research
..

. Action research

Fundamental research

Survey research
4

Question Number : 13 Question Id : 62321711778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Another term for the word “constructionism’™ 1s

Options:



Learning theory
objectivism
study of the building sector

research mto construction studies

Question Number : 14 Question Id : 62321711779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The objectives of Historical research method 1s

Options:
to uncover the unknown

to answer particular questions
2,

to seek implications or relationships of events from the past and their connections with the

. present

All of the other options

Question Number : 15 Question Id : 62321711780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What type of the interview,the questions are already prepared
for data collection ?

Options:

1 Telephonic interview

Personal interview



Structured mterview

All of the other options
4

Question Number : 16 Question Id : 62321711781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

I C T includes

Options:

Online learning
1.

Learning through the use of EDUSAT

2

] Web based learning

All of the other options
4,

Question Number : 17 Question Id : 62321711782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

While constructing a questionnaire, it i1s important to do each of the following except
Options:

use “leading” or “loaded” questions
1

use simple language
2.

understand your participants
3

pilot the test questionnaire
4,

Question Number : 18 Question Id : 62321711783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O



The introductory section of a research report should aim to
Options:

1dentify the specific focus of the study.
1

provide a rationale for the dissertation or article
Z.

grab the reader’s attention
5

; All of the other options
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Read the following passage and answer the question :

It wasn’t every day that Patricia Torres raced down the streets of Mianu at 70 m.p.h. But
then it wasn’t every day that her daughter Nicole Cabezas hallucinated widely trying to jump
out of the car, pulling off her clothes and ranting that people were following her. so this
seemed like a pretty good time to hurry. Nicole, 16, had been having problems for a while
now — ever since she was 14 — and began closeting herself in her bedroom. incapable of
socializing or doing her school work. and contemplating suicide. The past few months had
been different, though with the depression lifting and an odd state of high energy taking its
place. Nicole’s thoughts raced: her speech was fragmented. She went without sleep for days
at a time and felt none the worse for 1t. She began to suspect that her friends were using her,
but that was understandable, she guessed. since they no doubt envied her profound gifts “I
was the center of the universe”, she says quietly today “I was the chosen one”. Finally. when
the chosen one was struck by violent delusions — the belief that she had telekinetic powers
that she could change the colors of objects at will — Torres decided 1t was time to take Nicole
to the hospital. Emergency-room doctors took one look at the thrashing teenager. strapped her
to a gurney and began administering sedatives. She spent two weeks in the hospital as the
doctors monitored her shifting moods. adjusted her meds and talked to her and her parents
about her descent into madness. Finally, she was released with a therapy plan and a cocktail
of drugs. Six months later, doctors at last reached a diagnosis: she was suffering from bipolar
disorder. While emotional turmoil is part of being a teenager. Nocole Cabezas 1s among a
growing cohort of kids whose unsteady psyches do not simply rise and fall now and then but
whipsaw violently from one extreme to another. Bipolar disorder — once known as manic
depression, always knows as a ferocious mental illness — seems to be showing up in children
at an increasing rate. and that has taken a lot of mental-health professionals by surprise. The
illness until recently. was thought of as the rare province of luckless adults — the overachieving
busimessman given to sullen ions and impulsive highs: the underachieving uncle with the
mysterious moods and the drinking problem: the tireless supermom who suddenly takes to
her room, pulls the shades and weeps in shadows for months at a tume. But bipolar disorder
isn’t nearly so selective. As doctors look deeper into the condition band begin to understand
its underlying causes, they are coming to the unsettling conclusion that a large number of
teens and children are suffering from it as well. The National Depressive and Manic-
Depressive Association gathered in Orlando, Fla, last week for its annual meeting, as doctors
and therapists face a daunting task. Although the official tally of Americans suffering from
bipolar disorder seems to be holding steady — at about 2.3 million, striking men and women
equally — the average age of onset has fallen in a single generation from the early 30s to the
late teens. And that number doesn’t mclude kids under 18. Diagnosing the condition at very
young ages 1s new and controversial, but experts estimate that an additional 1 million preteens
and children in the U.S. may suffer from the early stages of bipolar disorder. Moreover, when
adult bipolars are mterviewed. nearly half report that their first manic episode occurred before
age 21: 1 m 5 says 1t occurred n childhood. “We don’t have the exact numbers yet, says
Dr. Robert Hirschfeld, head of the psychiatry department of University of Texas in Galveston,
“except he know it’s there. and it’s under diagnosed. “If he’s right. its an important warning
sign for parents and doctors, since bipolar disorder 1s not an illness that can be allowed to go
untreated. Victims have an alcoholism and drug-abuse rate triple that of the rest of the
population and a suicide rate that may approach 20 per cent. They often suffer for a decade
before their condition is diagnosed. and for years more before it 1s properly treated. “If you
don’t catch it early on”, says Dr. Demitr1 Papolos, research director of the Juvenile Bipolar
Research Foundation and co-author of The Bipolar Child (Broadway Books. 1999), “it gets
worse, like a tumor”. Heaping this torment on an adult is bad enough: loading it on a child 1s
tragic.



Sub questions

Question Number : 19 Question Id : 62321711785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What prompted Nicole to act wildly and jump out of the car?

Options:
Nicole never wanted to be administered sedatives and therefore. she scuttled off to

escape medication
’ Nicole was mentally retarded and therefore, she had to be kept under a strong vigil

Nicole, out of wild hallucination. had the habit of reckless munning, which compelled

her mother to chase her

Her hallucinations which put her in an odd state of high energy

Question Number : 20 Question Id : 62321711786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following sentence 1s true, according to the passage?
Options:

; Patricia’s fragmented speech was conceivable

Nicole suspected her friends of envying her gifts
Z.

Patricia had telekinetic powers, with which she could change the colors of objects at
. her will

Torres was suffering from a bipolar disorder
4

Question Number : 21 Question Id : 62321711787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which of the following sentence 1s incorrect, as laid down in the passage?

Options:



1 Doctors took a little time to diagnose Nicole’s condition

, Bipolar disorder can be treated

Bipolar disorder took every health practitioner by surprise

The increasing rate of bipolar disorder i children has taken mental health

professionals by surprise
4,

Question Number : 22 Question Id : 62321711788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Bipolar disorder seems to have affected

Options:

Children

1

Adults

2

Children and Adults

o

y Septuagenarians

Question Number : 23 Question Id : 62321711789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following sentence 1s incorrect, according to the passage?

Options:

Bipolar disorder can affect any teenager
1:;

Victims of bipolar disorder are prone to alcoholism and dirug abuse
z.



Bipolar disorder 1s just manic depression and not a mental illness
=

Bipolar disorder 1s increasingly striking children
4

Question Number : 24 Question Id : 62321711790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Which of the following sentence 1is incorrect, as per the passage?
Options:

Nicole was admuinistered alkaloids as first aid, in hospital
1.

It 1s tough to diagnose bipolar disorder in its nascent stage
2.

Support of parents and relatives 1s a must to restore a patient’s psychic equilibrium
=3

Nicole was administered alkaloids as first aid. in hospital and support of parents

, and relatives 1s a must to restore a patient’s psychic equilibrium

Question Number : 25 Question Id : 62321711791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Why bipolar disorder considered to be serious?
Options:

1 Because the victims can change color at will

, Because the victims are prone to violent delusions

Because mental health professionals could not conclude as to who could be a victim
2.

As victims of bipolar disorders have a very high rate of alcoholism, drug abuse and

suicide, 1t 1s a serious mental 1llness
4.

Question Number : 26 Question Id : 62321711792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which of the following sentence can be inferred from the passage?

Options:
Since bipolar disorder is not considered to be a mental illness by the health

. practitioners, it should therefore be allowed to go untreated

, Doctors are mtrigued about the selective criteria of the disease

Impulsive gentlemen are more prone to bipolar disorders
=3

The increasing rate at which bipolar disorder is afflicting young people 1s a cause for

COIICET]

Question Number : 27 Question Id : 62321711793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The National Depressive and Manic-Depressive Association gather at

Options:

1 Orlando

5 Texas

Miami

; Broadway

Sub-Section Number: 3
Sub-Section 1d: 623217393
Question Shuffling Allowed : Yes

Question Number : 28 Question Id : 62321711794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Identify the odd “C’ which 1s not relevant to the 7 C’s of effective communication.

Options:



; Clarity
, Collaboration
] Conciseness

Completeness
4,

Question Number : 29 Question Id : 62321711795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The choice of communication partners 1s influenced by factors of

Options:

1 Proximity, utility, loneliness
, Utility. Secrecy, dissonance

Secrecy, dissonance, deceptions
=

; Dissimilarity, dissonance, deviance.

Question Number : 30 Question Id : 62321711796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

The newspaper published by M K. Gandhi when he was in South Africa was
Options:

Reformer
Harijan

My voice
3.



Indian opinion
4,

Question Number : 31 Question Id : 62321711797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

15 an informal communication

Options:

; News letter
, Casual discussion

] Interpersonal communication

Intrapersonal communication

Question Number : 32 Question Id : 62321711798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
Human Communication is essentially
Options:

perfect
emotional
imperfect

short lived

Question Number : 33 Question Id : 62321711799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The term “SITE” stands for

Options:

1 Satellite Indian Television Experiment



Satellite International Television Experiment

Satellite Instructional Television Experiment
=

) Satellite Instructional Teachers Education

Question Number : 34 Question Id : 62321711800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of these 1s not relevant to effective communication
A. Clanty in language
B. Listen poorly
C. Home communication skills

D. Adequate medium

Options:

1 Only A
Only B

2.

. OnlyB & C

Only A& D

4

Question Number : 35 Question Id : 62321711801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Orthoepy in communication means

Options:

1 pronunciation

, expression



. conversation

J discussion

Question Number : 36 Question Id : 62321711802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The two statements assertion and reasoning are given. Based on that choose correct

answer.

Assertion (A): Nonverbal communication is related to expression of feelings. emotions in a
wordless manner.

Reason (R):  Body language 1s very much helpful in creating an understanding of any

matter or feelings.

Options:

Both A and R are true, R 1s the correct explanation of A

Both A and R are true, R 1s not the correct explanation of A
A 1s true R 1s false.

A 1s false. R 1s true.

Question Number : 37 Question Id : 62321711803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

3 th

Two persons A, B are standing in a row along with n-2 more persons. A is 15" person

from the beginning while B is 19" person from the end. If there are exactly 4 persons

between A and B, then a possible value of n 1s
Options:

28

L

4d
=



(b
()

sl
=N

Question Number : 38 Question Id : 62321711804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The number that comes next i the following sequence 1s

1,9, 36, 100, 225 44],

Options:

684

1.

784

2.

187

=

087

4.

Question Number : 39 Question Id : 62321711805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The letter that comes next in the following sequence 1s

B.CE G K M.

Options:

N

1.

O

Question Number : 40 Question Id : 62321711806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0
If the words RING and FATE are coded as 57 and 38 respectively in a certain code, then

in the same code the word PUSH 1s coded as

Options:
. 42

63
2,

83
=3

25
4,

Question Number : 41 Question Id : 62321711807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

E . P

If 4+ , thenp+q=

§g— - H
_|_
10

Options:

Question Number : 42 Question Id : 62321711808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

If p percent of q 1s q percent of p which 1s equivalent to x percent of pq, then x =
Options:

4

1.



Tad

2,
7,
3
|
4,

Question Number : 43 Question Id : 62321711809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
By selling an article for 1,428, a dealer gets a profit of 20 percent. Then the cost price of

that article in rupees is

Options:

1,200

1

1.190
1,180
>,

1.210
4,

Question Number : 44 Question Id : 62321711810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A person walks on one day with 60% of his usual speed and reaches his office 20 minutes

late. Then the usual time he takes to reach his office. in minutes. 1s

Options:

25
45

60

)
=



Question Number : 45 Question Id : 62321711811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
4 9 a+b

Ifa:b= — and b:c = —, then =
7 5 b+c
Options:
11
. 14
30
35
Z.
99
(_
= )8
7
. 76
Sub-Section Number: 4
Sub-Section 1d: 623217394
Question Shuffling Allowed : No

Question Number : 46 Question Id : 62321711812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Surender is as much older than Kamal as he 1s younger than Prashant. Navin 1s as old as

Kamal. Which of the following sentence is wrong?

Options:

1 Surender 1s older than Navin

Kamal 1s younger than Surender
z.

Prashant is as old as Surender
=4



Navin 1s younger than Prashant
4.

Question Number : 47 Question Id : 62321711813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Find the odd one out.
Options:

DEHG

1.

RSVU

2

_ JKNM
, LMQP

Question Number : 48 Question Id : 62321711814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Today 1s Thursday. The day after 59 days will be
Options:

Sunday
1::

. Monday

Tuesday

3

; Wednesday

Question Number : 49 Question Id : 62321711815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

“A” walks southwards then turns right then again turns left and then right. In which

direction is he from the starting point?

Options:



South-West

1.
South
- West
North-West
4,

Question Number : 50 Question Id : 62321711816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
SiX persons are sitting in a circle facing the center of the circle. Parikh is between Babita

and Narendra. Asha 1s between Chitra and Panka;j. Chitra is to the immediate left to Babita.

Who is to the immediate right to Babita?

Options:

. Parikh

Pankayj

2

; Narendra

Chitra

Question Number : 51 Question Id : 62321711817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In the following a statement and two conclusions are given. Read them and choose the

correct answer.
Statement: Some books are tables. Some tables are murors.
Conclusions: I. Some miurrors are books

I1. No book 1s mirror

Options:



Oanly conclusion I follows

Oanly conclusion II follows

Neither I nor II follows

Both I and II follows

Question Number : 52 Question Id : 62321711818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The relationship among the following words represented by which diagram.

Doctors, Surgeons. Patients

Options:

© O

OO0
©

Question Number : 53 Question Id : 62321711819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Pramana in Sanskrit means

Options:



Law

) Proof
Unit

Dimension

Question Number : 54 Question Id : 62321711820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
As per vedas philosophy, pramanas are i number.

Options:

Four
1.

Eight
2.

Six
=,

i Two

Question Number : 55 Question Id : 62321711821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Data which 1s generated within the company 1s classified as

Options:

Internal primary data
s .

3 External primary data

] Internal secondary data

External secondary data
4. -



Question Number : 56 Question Id : 62321711822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The following table gives the number of students admitted in a college m the courses A,

B. C. D. E during 2013-17. Based on this information answer the question given below.

~ Course | A B C D E
Year T
2013 221 | 232 | 34| 282 | 143
2014 242 | 241 | 307 | 301 | 162
2015 254 | 263 | 315 | 314 | 188
2016 204 | 304 | 348 | 295 | 206
2017 261 | 315 | 318 | 3605 | 212

The course that has registered highest growth percent in admissions in the year 2016 over
its previous year 1s

Options:

A

Question Number : 57 Question Id : 62321711823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following table gives the number of students admitted in a college in the courses A,

B. C. D, E during 2013-17. Based on this information answer the question given below.

“‘Hw.xguurse A B C D E
Year

2013 221 | 232 | 314 | 282 143
2014 242 | 241 | 307 | 301 162
2015 254 | 263 5 | 314 | 188
2016 2904 | 304 | - 295 | 206
2017 261 | 315 | 318 | 305 | 212

The year in which the admissions into ‘course E’ recorded highest growth percent increase
over 1ts previous year 1s

Options:

1 2014

2015

2.

2016
=

2017

4

Question Number : 58 Question Id : 62321711824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following table gives the number of students admitted in a college in the courses A,

B. C. D. E during 2013-17. Based on this information answer the question given below.

-~ Course] A | B | C | D | E
Year
2013 221 | 232 | 314 | 282 | 143
2014 242 | 241 | 307 | 301 | 162
2015 254 | 263 | 315 | 314 | 188
2016 294 | 304 | 348 | 295 | 206
2017 261 | 315 | 318 | 305 | 212

The difference between the total number of admissions into courses A and C during the
given period 1s

Options:



1.
-
35
2E = 0
332
>,
321
4,

Question Number : 59 Question Id : 62321711825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following table gives the number of students admitted in a college in the courses A,

B. C. D, E during 2013-17. Based on this information answer the question given below.

""“m.mg]urse A B C D E

Year

2013 221 | 232 | 314 | 282 143
2014 242 | 241 | 307 | 301 162
2015 254 | 263 | 315 | 314 | 188
2016 2904 | 304 | 348 | 295 | 206
2017 261 | 315 | 318 | 305 | 212

The increase 1n the total number of admission in the college in the given period is

Options:

192

Question Number : 60 Question Id : 62321711826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart gives the expenditure on various heads, (A) House rent, (B) Food.
(C) Children education, (D) Cloths, (E) Entertainment and (F) Savings of a person out of

his monthly income. Based on this information answer the question given below.

If the monthly mcome 1s ¥81,000, then the amount spent on food, in rupees, in that month 1s

Options:
1 25,000
22,500
2.
X20.000
=
17,500
4,

Question Number : 61 Question Id : 62321711827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart gives the expenditure on various heads, (A) House rent, (B) Food.
(C) Children education, (D) Cloths. (E) Entertainment and (F) Savings of a person out of

his monthly income. Based on this information answer the question given below.

g\ F
30°
D 120-
40¢°
C
50
B
100°

The savings of the person in a month 1s what percent of his monthly income?

Options:
i
1. 9
3
4_
2.
.
i
= 9
5 8
9
4,

Question Number : 62 Question Id : 62321711828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart gives the expenditure on various heads. (A) House rent, (B) Food.
(C) Children education, (D) Cloths, (E) Entertamment and (F) Savings of a person out of

his monthly income. Based on this information answer the question given below.

If the amount spent on cloths in a month 1s 319,800, then the amount spent on food in that

month, in rupees. is

Options:

21,000

23,000

24,000

27.000

Question Number : 63 Question Id : 62321711829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart gives the expenditure on various heads, (A) House rent, (B) Food.
(C) Children education, (D) Cloths, (E) Entertainment and (F) Savings of a person out of

his monthly income. Based on this information answer the question given below.

The total amount spent on children education and cloths 1s what percent of the amount

spent on house rent?

Options:

Sub-Section Number: 5
Sub-Section 1d: 623217395
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 62321711830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Magnetic disc 1s a medium known as
Options:

serial access



direct access
2.

sequential access
=

sequential and rotational access
4.

Question Number : 65 Question Id : 62321711831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of the following is not a language for computer programming?
Options:

PASCAL

BASIC

2

C++

3.

Windows

Question Number : 66 Question Id : 62321711832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

bytes equal to one Tera byte.

Options:

12
, 10

, None of the other options

Question Number : 67 Question Id : 62321711833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0
The full form of MAN is
Options:
Metropolitan Area Network
12

Many Aerial Network
z.

Man And Network
Multy Area Network

Question Number : 68 Question Id : 62321711834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Why are digital circuits are easier to design than analog circuits?
Options:

They do not control electricity precisely

All elements of digital circuits are from the same famuly
They are made 1 the form of ICs
They are smaller 1n size

Question Number : 69 Question Id : 62321711835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The gray code for decimal 7 1s

Options:

0111
1.

1011



0100

3

, 0101

Question Number : 70 Question Id : 62321711836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Which of the following 1s network security aspect?
Options:

1 Patch management
, Firewalls

Instruction detection system
3.

) All of the other options

Question Number : 71 Question Id : 62321711837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

NPTEL was mnitiated in the year

Options:

; 2000

2003

2007
2010

Question Number : 72 Question Id : 62321711838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The full form of SWAYAM 1s

Options:



. Study Webs of Active-leamning for Young Aspiring Minds

, Study World of Active-learning for Young Aspiring Minds

| Society of Webs for Active-learning for Young Aspiring Minds
| Study Webs of Activists on Young Aspiring Minds

Question Number : 73 Question Id : 62321711839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following UN commissions 1s responsible for reviewing progress in the

implementation of Agenda 21 and the Rio Declaration on Environment and Development.

Options:

1 United Nation Disarmament Comimission

, United Nations Statistical Commission

United Nations Commission on Sustainable Development
2

, United Nations Commission on Human Rights.

Question Number : 74 Question Id : 62321711840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following human activity, causes maximum environmental pollution, having
regional and global impact is:

Options:

1 Urbanization

Industrialization
2.

; Agriculture



Mining
4,

Question Number : 75 Question Id : 62321711841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following is not related to the sources of air pollution?

Options:

Volcanic emissions

Acid rains
zZ.

] Fuel combustion m vehicular traffic

Petroleum Refining
4,

Question Number : 76 Question Id : 62321711842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following can be re-cycled many times ?
Options:

Aluminium
2 Plastic

Wood
, Organic material

Question Number : 77 Question Id : 62321711843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Depletion of ozone layer causes, which of the following?
a. Cataract in eyes leading to blindness
b. Reduced productivity of agriculture

¢. Lung infection
Options:

Only (a)

Only (a) and (b)
2

Only (c)

. (a), (b) and (¢)

Question Number : 78 Question Id : 62321711844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
In hydroelectricity power
Options:

. Kinetic energy 1s transferred to potential energy

. Potential energy 1s transferred to Kinetic energy

] Solar energy 1s transferred to wind energy

) Wind energy 1s transferred to solar energy.

Question Number : 79 Question Id : 62321711845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

International Tsunami mformation center is located m
Options:

1 Goa



Jakarta

Puducherry
=3

Honolulu

Question Number : 80 Question Id : 62321711846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
The Environment Protection Act, 1986 was enforced on
Options:

19/11/1986

1

, 20/11/1986
23/5/1986
=t

19/6/1986

4

Question Number : 81 Question Id : 62321711847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
When did the Kyoto protocol enter mto force?
Options:

1997

1

2000
e

£ 2005

3

2009
4,

Question Number : 82 Question Id : 62321711848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0

Which of these National Institutes is not associated with the Ministry of Ayush?
Options:

NIA

1.

NIN

z.

NIS

NIT

Question Number : 83 Question Id : 62321711849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Name of the first University to Introduce Japanese language course in India.

Options:

Viswa - Bharati University
1.
, 1ISc

’ Jawaharlal Nehru University

] Tata Institute of Social Science

Question Number : 84 Question Id : 62321711850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following organizations deals with capacity building educational planning?

Options:

NCERT

1

UGC

&2

NAAC

=



, NUEPA

Question Number : 85 Question Id : 62321711851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The accreditation process by National Assessment and Accreditation Council (NAAC)

differs from that of National Board of Accreditation (NBA) in terms of

Options:

Disciplines covered by both being the same, there 1s duplication of effort.
1.

One 1s concerned with approval of minimum standards and the other in the quality of

education.
2.

. One has nstitutional grading approach and the other has programme grading approach.

None of the other options
4,

Question Number : 86 Question Id : 62321711852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
NIOS 1is associated with which of these forms of learning
Options:
Progressive schooling
1

Open schooling
2.

5 Conventional schooling

Home schooling
4.

Question Number : 87 Question Id : 62321711853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What is the other name for Secondary Education Commission?

Options:



Mudaliar commuission

Kothari commission

Radha Krishnan commission

; None of the other options.

Question Number : 88 Question Id : 62321711854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following 1s FALSE when it comes to the International programme called

as the Common Wealth of Learning?

Options:

It operates in India
1

It 1s for open learning
z.

] It has headquarters mm New Zealand

It 1s for distance learning.
4,

Question Number : 89 Question Id : 62321711855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

An elective course chosen generally from an unrelated subject with an mtention to seek

exposure 1s called

Options:

Additive

1

Additional

2

; Generic Elective



Supplement

Question Number : 90 Question Id : 62321711856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
According to which theory experimental knowledge i1s real?
Options:

Perennialism
, Essentialism
. Pro gressIvism

, Reconstimctionism

Law
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Question Number : 91 Question Id : 62321711857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

As per the Preamble, the Constitution of India was adopted by the Constituent
Assembly envisages the .....kinds of justice ?

Options:



social, economic and political

1

social, economic,gender and political

2

social, economic and gender

=

social, economic, political and regional

4.

Question Number : 92 Question Id : 62321711858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Article 45 of the Constitution 1s related to?
Options:

Free and Compulsory Education for children up to 14 years
1.

Provision of early childhood care and education to children below the age of 6

vears.
2

. Duty of the state to raise the level of nutrition.

, Organization of agriculture and animal husbandry.

Question Number : 93 Question Id : 62321711859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The phrase ‘Equal before Law i Article 14 of the Constitution can be traced

to

Options:

1 Dicey’s detinition of Rule of Law



; Magna Carta

_ US Declaration of Independence

Madison’s theory of Checks and Balances
4.

Question Number : 94 Question Id : 62321711860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The present sanctioned strength of judges of the Supreme Court other than the

Chief Justice 1s
Options:

1 29

31

2.

Question Number : 95 Question Id : 62321711861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The Constitutional Provision(s) which deal(s) with cooperative democracy in

India 1s/are

Options:

Article 19(1)(c)

Article 43-B



None of the other options
=,

Both Article 19(1)/(¢) and Article 43-B

Question Number : 96 Question Id : 62321711862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

In Indian Young Lawyers Association case , the Supreme Court declared a State
Regulation of Kerala that prevented women of certain ages from entering the
Sabarimala Temple. Name the judge who delivered dissenting opinion in the
case?

Options:

Justice R.Bhanumathi
1.

Justice Indu Banerjee
Z.

Justice Indu Malhotra
Justice Dipak Mishra
4.

Question Number : 97 Question Id : 62321711863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which Constitutional Amendment reduced the voting age in India from 21 to 18
years?

Options:

60™ Amendment



61" Amendment

2.

622 Amendment
=4
) 6319 Amendment

Question Number : 98 Question Id : 62321711864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A.K Kraipak V.Union of India 1s a leading case relating to
Options:

. Rule agamnst Personal Bias

Rule against Pecuniary Bias
Z.

Subject-matter Bias
Pre-conceived Notion Bias

Question Number : 99 Question Id : 62321711865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following 1s not a ground for judicial review by way of Certiorai?

Options:
. Violation of Principles of Natural Justice

Arbitrariness
2.



Arbitrary Arrest

3

Acting without jurisdiction
4.

Question Number : 100 Question Id ;: 62321711866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
................. is a landmark judgment of the Supreme Court of India, which
holds that the right to privacy is protected as a fundamental constitutional

right under Articles 14, 19 and 21 of the Constitution of India.

Options:

S.G. Vombatkere & Anr. v. Union of India

State of Kerala & Ors. v. President, Parent Teachers Association SNVUP

School

 M.P. Sharma v. Satish Chandra
) Justice K.S.Puttaswamy (Retd.) and Anr. vs Union of India and Ors.

Question Number : 101 Question Id : 62321711867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Lex iniusta non est lex"has which of the following meanings?

Options:

The law 1s not valid unless 1t 1s formally enacted
1.

Law has lexical priority over morality
2.



An unjust law 1s no law at all
= -

No-one 1s above the law

Question Number : 102 Question Id : 62321711868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

According to John Austin,the subject-matter of jurisprudence is law

Options:

Positive
Negative

z.

_ Metaphysical

, Morality

Question Number : 103 Question 1d : 62321711869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Summa Theologica 1s a (an) ......... written by .......

Options:

. Report/Hobbes

Article/Aristotle

Book/Thomas Acquinos
>,

Book/Saint Joseph

4



Question Number : 104 Question Id : 62321711870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The criticism that morality, by itself, 1s insufficient to create legislation 1s

based on which of the following theories of law?

Options:

. Legal positivism

Legal relativism
Z.

Legal moralist
S

, Legal reality

Question Number : 105 Question Id : 62321711871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

“A legal person 1s any subject matter other than a human being to which law

attributes personality.” Who said these words?

Options:

. Savigny

Bentham
2.

. Austin

Salmond

Question Number : 106 Question Id : 62321711872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



“Ownership in its comprehensive signification denotes the relationship
between a person and any right that 1s vested in him. That which a man owns

in this sense 1s 1n all cases a right” . Who 1s the exponent of this theory?

Options:

Miss Tay
Maitland

X Fuller

) Salmond

Question Number : 107 Question Id : 62321711873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which of the following apparent correlatives contradicts Hohfeld's scheme of

'jural relations'?

Options:

Right and Duty
1.

Privilege and no right

. Power and Liability

Immunity and Disability

4.

Question Number : 108 Question Id : 62321711874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



How does Nozick answer the criticism of his historical entitlement theory that

if the distribution of goods in society 1s unjust those at the bottom always lose?

Options:

It can be remedied by redistribution of wealth
1.

i If each person's holdings are just, then the total distribution of holdings is just.

Historical factors are secondary to moral imperatives

He has no answer
4,

Question Number : 109 Question Id : 62321711875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following statement best describes the postmodemist project?
Options:

[t attempts to demonstrate the relationship between law and literature
15

[t seeks to defend Enlightenment values.
2

It 1s preoccupied with the rise of bureaucratic government.
=3

, It rejects the Kantian concern with individual rights, equality and justice.

Question Number : 110 Question Id : 62321711876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Critical Legal Studies (CLS) 1s often compared to (or with) American realism.

Which of the following statement 1s inaccurate?

Options:



Both are concerned with the 'law m action'
1.

., Both are anti-formalist and sceptical
. Both adopt a liberal ideology.

) Both attempt to demystify the law.

Question Number : 111 Question Id : 62321711877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

1s considered to be the father of International Law

Options:

1 Hugo Grotius
Oppenheim

Suarez

) Pufendort

Question Number : 112 Question Id : 62321711878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

When was the Vienna Convention on Diplomatic Relations adopted?

Options:

1821



1887

. 1960

. 1961

Question Number : 113 Question Id : 62321711879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

On what condition, a state has the right to use force?
Options:

Armed attack

1

. To obtain raw materials

To ensure the protection of human rights
S

None of the other options
4

Question Number : 114 Question Id : 62321711880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A state has the right to exploit on the continental shelf

Options:

. Both Living and non-Living resources

Living resources
2



Non-Living resources
=

, None of the other options

Question Number : 115 Question Id : 62321711881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What does the principle of rebus sic stantibus means?

Options:

1 There 1s not a crime without Law

] A State cannot use force

_ A treaty must be adhered to faithtully

A fundamental change of circumstances
4.

Question Number : 116 Question Id : 62321711882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Extradition 1s normally granted:
Options:

1 In criminal cases

In civil cases
zZ.

. In all cases

None of the other options
4



Question Number : 117 Question Id : 62321711883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

When the human rights begin to emerge as an active concern of national

foreign policies. ..
Options:

1 The mid-1960s.

, The m1d-1970s

. The end of the Cold War.

The early 1950s.

Question Number : 118 Question Id : 62321711884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

‘Infancy’ as an exception has been provided under which provision of IPC,

18607?
Options:

section 80

) section 81

section 82

section 84
4,

Question Number : 119 Question Id : 62321711885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



“In every statute, mens rea 1s to be implied unless the contrary 1s shown.”:

This view was expressed in-

Options:

Sherras v. De Rutzen
1.

_ R.v. Dudley & Stephen
_ Harding v. Price

R. v. Prince.

Question Number : 120 Question Id : 62321711886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

A hangman who hangs the prisoners pursuant to the order of the court 1s

exempt from criminal liability by virtue of:

Options:

) section 77 of IPC

section 78 of IPC

2

] section 79 of IPC

. section 76 of IPC

Question Number : 121 Question Id : 62321711887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Section 326-A of the IPC deals with the offence of



Options:

. Marital rape
, Acid Attack

. sexual Harassment

Outraging modesty of women

Question Number : 122 Question Id : 62321711888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Section 354-D of IPC deals with the offence of

Options:

Sexual harassment
1.

, Voyerism

, Stalking

Disrobing of women
4,

Question Number : 123 Question Id : 62321711889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Whoever by words, either spoken or written, or by signs, or by visible
representation, or otherwise, brings or attempts to bring into hatred or

contempt, or excites or attempts to excite disaffection towards the Government

established by law in India commits the offence of

Options:



Waging war against India
1.

. Sedition

: Defamation

Criminal Conspiracy
4.

Question Number : 124 Question Id ;: 62321711890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Whoever, intending to take dishonestly any movable property out of the
possession of any person without that person's consent, moves that property in

order to such taking, 1s said to commit

Options:

Dacoity
L

Criminal Misappropriation
2.

. Theft
Extortion

Question Number : 125 Question Id : 62321711891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

An assemblyof ......... or more persons is designated an “unlawful assembly”,

if they assemble with a common object to commuit an 1llegal act.

Options:



two

three
2.

five
=,

4 SEVeEl

Question Number : 126 Question Id : 62321711892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Exception 2 to the offence of Rape under Section 375 of IPC which states that
“Sexual intercourse or sexual acts by a man with his own wite, the wife not
being under fifteen years of age, 1s not rape” was struck down as

unconstitutional in the case of

Options:

. Independent Thought v.Union of India

_ Navtej Singh Johar v.Union of India
_ Joseph Shine v.Union of India

Aruna Shaunbaugh v.Union of India

Question Number : 127 Question Id : 62321711893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which one of the following interests are not protected by the law of tort?

Options:

Peacetul enjoyment of one’s land
1



. Reputation

Loss of commercial profit due to competition
S

Physical satety

Question Number : 128 Question Id : 62321711894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What 1s meant by the term ‘actionable per se’?
Options:

. Actionable without proot of damage

Actionable at the mstance of the injured party only
z.

_Actionable only 1n the c1vil courts

A tort of strict liability
4.

Question Number : 129 Question Id : 62321711895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following 1s not a defense to trespass to the person?

Options:

Lawtul authority

1

Contributory negligence
Z.



. Selt-defense

Necessity

4

Question Number : 130 Question Id : 62321711896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

What case laid down the fundamental test for determining duty of care?
Options:

Bourhill v Young

Donoghue v Stevenson

z

Heaven v Pender
=,

Yeun Kun Yeu v Atty-Gen of Hong Kong
4.

Question Number : 131 Question Id : 62321711897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

What type of damage is recoverable under public nuisance but not under
private nuisance?

Options:

Loss of amenity
s

Property damage

z



Economic loss

Personal injury

Question Number : 132 Question Id : 62321711898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following is not an element 1n establishing a case in libel?
Options:

Publication to a 3™ party
1.

A section of the public who thought less of the claimant
2.

A defamatory statement
5

Reterence to the claimant

Question Number : 133 Question Id : 62321711899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following is not required to establish the defence of volenti?

Options:

Full knowledge of the risk

Explicit consent
2.

_ Absence of duress



An agreement

Question Number : 134 Question Id : 62321711900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of the following 1s true of product liability?

Options:

It 1s strict liability only

[t 1s common law only
It 1s a combination of statute law and common law

[t 1s statute law only

Question Number : 135 Question Id : 62321711901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A new Consumer Protection Act has been enacted 1n India 1n the year

Options:

. 2006

. 2016

2017

, 2019



Question Number : 136 Question Id : 62321711902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

n ~ . . . ~
Offer 1s to acceptance whata .......... 1s to a train of gun powder"

Options:

1 driver

guard
z.

lighted match

speed breaker
4.

Question Number : 137 Question Id : 62321711903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

When 1s the communication of a proposal complete:
Options:

When 1t comes to the knowledge of the person to whom 1t 1s made
1.

Only when the proposal, acceptance or revocation of the proposal 1s recorded in

writing
Z.

. When the other party gives his assent or dissent to the proposal

, Only when a clear verbal communication of such proposal 1s made

Question Number : 138 Question 1d : 62321711904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of the following feature 1s not essential for a contract:

Options:



It should be in writing only
1.

free consent of parties competent to contract
z.

_ lawtul consideration and with a lawtul object

It should not be declared void expressly

Question Number : 139 Question Id : 62321711905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following 1s not a necessary feature for free consent:

Options:

When the consent 1s not caused by coercion
1,

When the consent 1s not caused by undue influence
2

_ When the consent 1s not caused by mistake

When the consent 1s not caused by misunderstanding
4.

Question Number : 140 Question Id : 62321711906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

An agreement made by bilateral/mutual mistake 1s

Options:

1_ Void

Voidable



Illegal

Immoral
4,

Question Number : 141 Question Id : 62321711907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What 1s the responsibility of the finder of goods:

Options:

Same responsibility as a bailee.
1.

Same responsibility as a trustee
2

- Same responsibility as a pledgee
, Same responsibility as the owner

Question Number : 142 Question Id : 62321711908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
When a contract 1s breached, the party who suffers such breach shall:

Options:

Be indemnaified for the loss or damage caused to him
1.

_Recerve compensation for any loss or damage caused to him

Be remunerated for the loss or damage caused to him
=

Not have any right under the Indian Contract Act



Question Number : 143 Question Id : 62321711909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of these contracts has three parties consisting of creditor, principle
debtor and surety:

Options:

, Contract of mdemnity

Contract of surety
Z.

Contract of pledge

3

Contract of guarantee
4,

Question Number : 144 Question Id : 62321711910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

An agreement enforceable at the discretion of party 1s called

Options:

. Void agreement

Valid agreement
z.

Voidable agreement
=3

None of the other options
4

Question Number : 145 Question Id : 62321711911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which provision of the Companies Act 2013 deals with Corporate Social
Responsibility?
Options:

. Section 235

Section 135

2

Section 325
=

Section 35
4.

Question Number : 146 Question Id ;: 62321711912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Hindu law 1s

Options:

1 Personal law

) Criminal law

Both of the Personal law & Criminal law

None of the other options
4

Question Number : 147 Question Id : 62321711913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
O1d source(s) of Hindu law 1s/are

Options:



Customs, digest and commentaries

Smritis
Shrutis

All of the other options

Question Number : 148 Question 1d : 62321711914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Section 5(1) of the Hindu Marriage Act, 1955 prohibits

Options:

_ Bigamy
i Monogamy

Both Bigamy and Monogamy

=

None of the other options
4.

Question Number : 149 Question Id : 62321711915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which section of the Hindu Marriage Act, 1955 provides for ‘judicial

separation’?

Options:



Section 10

1

Section 11

Section 7
=,

Section §
4,

Question Number : 150 Question Id : 62321711916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

As per section 14 of the Hindu Succession Act, 1956 any property possessed
by a female Hindu, whether acquired by her before or after the commencement

of this Act, shall be held as a

Options:

1 Half owner

Limited owner
=z,

Absolute owner
=,

All of the other options

Question Number : 151 Question Id ;: 62321711917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following Acts recognizes Live-in Relationships in India?

Options:



The Hindu Marriage Act 1955

] The Protection of Women from Domestic Violence Act 2005

] The Special Marriages Act 1954
The Christian Marriages Act 1872

Question Number : 152 Question Id : 62321711918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Unitorm Civil Code under Indian Constitution 1s a
Options:

Fundamental Right
1

Statutory Right

2

Directive Principle
>,

Moral right

4.

Question Number : 153 Question 1d : 62321711919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The manager of a Wakf property is called

Options:

. Wali-e-Nikah



_ Sadaqa
_ Mutavalli

Meharana
4,

Question Number : 154 Question Id : 62321711920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
One of the following is the first major environmental protection act to be

promulgated 1n India?

Options:

1 Environmental (Protection) Act

, Air Act

. Water Act

) National Green Tribunal Act

Question Number : 155 Question Id : 62321711921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The World Environmental day 1s celebrated on:

Options:

December 1

June 5
2.



November 14

3

August 15
4,

Question Number : 156 Question Id : 62321711922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The Wildlife (Protection) Act was enacted 1n the year:
Options:

1986

1974

2

1994

3

1972

4

Question Number : 157 Question 1d : 62321711923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The provisions for environmental protection in the constitution were made 1n:

Options:

1976
_ 1950

_ 1982



, 1960

Question Number : 158 Question 1d : 62321711924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
An Act to provide for the establishment of a National Green Tribunal for the

effective and expeditious disposal of cases relating to environmental protection
and conservation of forests and other natural resources including enforcement
of any legal right relating to environment and giving relief and compensation

for damages to persons and property, was enacted in the year

Options:

1 1986

1996

2010

2015

Question Number : 159 Question Id : 62321711925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which among the following is not a part of the International Bill of Human

Rights ?

Options:

_ the Universal Declaration of Human Rights 1948

, the International Covenant on Civil and Political Rights 1966

] the International Covenant on Economic, Social and Cultural Rights 1966



the UN Child Rights Convention 1989

Question Number : 160 Question Id : 62321711926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

National Human Rights Commissionis a ......

. Statutory body

Constitutional body

2

Multilateral imnstitution
=,

Both Statutory body and Multilateral institution

Question Number : 161 Question Id : 62321711927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

NHRC was established 1n the year:

Options:

. 1951

1993

2

1965

=

1990



Question Number : 162 Question Id : 62321711928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which Constitutional amendment has conferred Constitutional Status on the

National Commission for Backward Classes?

Options:

1 1 0211(1

0 9t11

2

101

3

103

Question Number : 163 Question 1d : 62321711929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of these 1s a geographical indication?

Options:

BMW

1.

Champagne
z.

Hogwarts
=

. Playstation

Question Number : 164 Question Id : 62321711930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



What does a trademark protect?
Options:

_an mvention

a work of art
2.

_ logos, names and brands

the look, shape and teel of a product

Question Number : 165 Question Id : 62321711931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

How long do patents usually last for?

Options:

10 years
] 20 years

_40 years

, 00 years

Question Number : 166 Question Id : 62321711932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If you write an original story, what type of intellectual property gives you the

right to decide who can make and sell copies of your work?

Options:



Copyright
s

Geographical indications
Z.

Patents
=

Registered designs
4.

Question Number : 167 Question Id : 62321711933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The term “WIPO” stands for:-

Options:

World Investment policy organization
1.

_ World mtellectual property organization

. Wildlife Investigation and Policing organization

, World mstitute for Prevention of organized crime

Question Number : 168 Question 1d : 62321711934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

A scientist has mmvented a new way to process milk so that there is no fat in any

cheese made from it. How can he protect the process under IPR regime?

Options:

1 Copy rights



Trade mark

] Patent

, Industrial designs

Question Number : 169 Question Id : 62321711935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Copyright protects

Options:

1 An Idea

Expression Of An Idea

An Invention
=,

A New Invention
4.

Question Number : 170 Question Id : 62321711936 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following IPRs cannot be owned by an individual?

Options:

1 Patent

Copyright



Geographical Indication
3.

, Trademark

Question Number : 171 Question Id : 62321711937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which 1s the Act which provides legal framework for e-Governance in India

Options:

T (amendment) Act 2008

Indian Penal Code

2

IT Act 2000

None of the other options
4,

Question Number : 172 Question Id : 62321711938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following constitutions 1s a unitary constitution?

Options:

UK

1.

USA

z.

. Canada

: Australia



Question Number : 173 Question Id : 62321711939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who propounded the modern concept of Rule of Law?

Options:

Jennings
1.

i A.V.Dicey

Lord Denning
Sy

. Lord Devlin

Question Number : 174 Question Id : 62321711940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Marbury v.Madison 1s landmark decision relating to
Options:

Separation of powers
1.
, Political questions

Judicial review

Schools Segregation
4,

Question Number : 175 Question Id : 62321711941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In which of the following countries, the principle of ‘dual constitutionalism’ 1s

followed?

Options:



UK

1.

France

_ India

USA

4.

Question Number : 176 Question Id : 62321711942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following 1s not an attribute of independence of judiciary
mn India?

Options:

. Security of tenure of judges

d udicial primacy in appointment of SC&HC judges

Retirement age of judges
=3

Power to punish for contempt
4

Question Number : 177 Question Id : 62321711943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which one of the following 1s a fourth generation of Human Right?

Options:

. Right to Life

_ Right to Health



. Right to Environment

Right to Communication
4,

Question Number : 178 Question Id : 62321711944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following constitution 1s considered as the most rigid

constitution in the world?

Options:

Indian Constitution
1.

) US Constitution

Australian Constitution
=,

Constitution of Canada
4.

Question Number : 179 Question Id : 62321711945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Who among the following propounded the theory of Checks and Balances?
Options:

James Madison

Montesquieu
Z.

Alexander Hamilton
=



Edward Coke

Question Number : 180 Question Id : 62321711946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

In which country did the Ombudsman system originate?

Options:

UK

1.

Canada
2.

] Sweden

, India



